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Exercise - 1
1

-1 Consider the following snapshot of a system:

Allocation Max Available
ABCD ABCD ABCD
PO 0012 0012 1520
P1 1000 1750
P2 1354 2356
P3 0632 0652
P4 0014 0656

® What is the content of matix Need
W Is the system in a safe system?

w If a request from Process P1 arrives for (0,4,2,0) can the
request be granted immediately?



Exercise - 2
1

71 Total resources in the system: 6 57 6

-1 Consider the following snapshot of a system:

Allocation Max Available
ABCD ABCD ABCD
PT 1221 3322 3112
P2 1033 1234
P3 1210 1350

= From the initial state,
m P3 requests (0,0,2,0)
m P3 requests (0,0,1,0)
m P2 requests (0,1,0,0)



